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<...snip...>

?- consul t (' conbosets.pro’).
% conbosets. pro conpiled 0.00 sec, 7,080 bytes

Yes
?- conbos(set(1,2,3),C X).

C = conbo(1, 2),

X = extras(3)

C = conbo(2, 3),

X = extras(l) ;

C = conbo(1, 3),

X = extras(2)

No

?- conbos(set (apple,’ Carrot’, 8337), C, X).

C = conmbo(apple, "Carrot’),
X = extras(8337) ;

C = combo(’' Carrot’, 8337),
X = extras(apple) ;

C = conbo(appl e, 8337),

X = extras(’ Carrot’)

No

?- conbos(set (A B, 0, conbos(1,2),extras(3)).
No

?- conbos(set (A B, C, conbo(1,2),extras(3)).
A =1,

B = 2,

C=3;

A = 3,

B = 1,

C=2;

A =1,

B = 3,

c=2,;

No

?-

conbos(set (1, 3,5, X),conbo(1,4),extras(3,5)).

I
N

vz X

conbos(set(a, b,c,d),C X).

C = conbo(a, b),
extras(c, d)

x
1

?- conbos(set(a, b,c,d,e),C X).

conbo(a, b),
extras(c, d, e)

conbo(a, c),
extras(b, d, e) ;

X0 X0
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conbo(a,
extras(b

conbo( a,
extras(b

conbo(b,
extras(a

conbo(b,
extras(a

conbo(b,
extras(a

conbo(c,
extras(a

conbo(c,
extras(a

conbo(d,
extras(a

p(l, 2)
p(2, 1)

p(1, 2,
p(1, 3,
p(2, 1,
p(2, 3,
p(3, 1,
p(3, 2,

pern(s(1,

p(1, 2,
p(l, 2,
p(1, 3,
p(1, 3,
p(l, 4,
p(1, 4,
p(2, 1,
p(2, 1,

p(2, 3,

d),
, C,

e),
v G,

c),
o d,

d),
, C,

e),
, C,

d),
, b,

e),
. b,

e),
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3)
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3)
1)
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2,3,4),P).

3, 4)
4, 3)
2, 4)
4, 2)
2, 3)
3, 2)
3, 4)
4, 3)

1, 4)

d)

e)

e)

d)

d)

c)

perm(s(1,2),P).

perm(s(1,2,3),P).
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P=p(2 3 4 1);

P=p(2 4, 1, 3) ;

P=np(2 4 3, 1)
P=p(3 1, 2, 4);
P=p(3 1, 4, 2);
P=np(3 2, 1, 4)
P=p(3 2 4, 1) ;
P=p(3 4 1, 2);
P=np(3 4, 2, 1)
P=p(4, 1, 2, 3) ;
P=p(4, 1, 3, 2) ;
P =p(4, 2, 1, 3)
P=p(4, 2, 3, 1) ;

P=p(4, 3, 1, 2) ;
P=np(4, 3, 2, 1)

No
?- perm(s(1,2,3,4,5),P),wite(P),nl,fail.
5

p(l, 2, 3, 4, 5)
p(1l, 2, 3, 5, 4)
p(l, 2, 4, 3, 5)
p(l, 2, 4, 5, 3)
p(l, 2, 5, 3, 4)
p(l, 2, 5, 4, 3)
p(l, 3, 2, 4, 5)
p(l, 3, 2, 5, 4)
p(l, 3, 4, 2, 5)
p(l, 3, 4, 5, 2)
p(l, 3, 5, 2, 4)
p(l, 3, 5, 4, 2)
p(l, 4, 2, 3, 5)
p(1, 4, 2, 5, 3)
p(l, 4, 3, 2, 5)
p(l, 4, 3, 5, 2)
p(1, 4, 5, 2, 3)
p(l, 4, 5, 3, 2)
p(1, 5, 2, 3, 4)
p(1l, 5, 2, 4, 3)
p(1, 5, 3, 2, 4)
p(1, 5, 3, 4, 2)
p(1, 5, 4, 2, 3)
p(l, 5, 4, 3, 2)
p(2, 1, 3, 4, 5)
p(2, 1, 3, 5, 4)
p(2, 1, 4, 3, 5)
p(2, 1, 4, 5, 3)
p(2, 1, 5, 3, 4)
p(2, 1, 5, 4, 3)
p(2, 3, 1, 4, 5)
p(2, 3, 1, 5, 4)
p(2, 3, 4, 1, 5)
p(2, 3, 4, 5, 1)
p(2, 3, 5 1, 4)
p(2, 3, 5 4, 1)
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p(2, 4, 1, 3, 5)
p(2, 4, 1, 5, 3)
p(2, 4, 3, 1, 5)
p(2, 4, 3, 5, 1)
p(2, 4, 5 1, 3)
p(2, 4, 5, 3, 1)
p(2, 5, 1, 3, 4)
p(2, 5, 1, 4, 3)
p(2, 5 3, 1, 4)
p(2, 5, 3, 4, 1)
p(2, 5, 4, 1, 3)
p(2, 5, 4, 3, 1)
p(3, 1, 2, 4, 5)
p(3, 1, 2, 5, 4)
p(3, 1, 4, 2, 5)
p(3, 1, 4, 5, 2)
p(3, 1, 5, 2, 4)
p(3, 1, 5, 4, 2)
p(3, 2, 1, 4, 5)
p(3, 2, 1, 5, 4)
p(3, 2, 4, 1, 5)
p(3, 2, 4, 5, 1)
p(3, 2, 5 1, 4)
p(3, 2, 5 4, 1)
p(3, 4, 1, 2, 5)
p(3, 4, 1, 5, 2)
p(3, 4, 2, 1, 5)
p(3, 4, 2, 5 1)
p(3, 4, 5 1, 2)
p(3, 4, 5 2, 1)
p(3, 5 1, 2, 4)
p(3, 5 1, 4, 2)
p(3, 5 2, 1, 4)
p(3, 5 2, 4, 1)
p(3, 5 4, 1, 2)
p(3, 5, 4, 2, 1)
p(4, 1, 2, 3, 5)
p(4, 1, 2, 5, 3)
p(4, 1, 3, 2, 5)
p(4, 1, 3, 5, 2)
p(4, 1, 5, 2, 3)
p(4, 1, 5, 3, 2)
p(4, 2, 1, 3, 5)
p(4, 2, 1, 5, 3)
p(4, 2, 3, 1, 5)
p(4, 2, 3, 5, 1)
p(4, 2, 5 1, 3)
p(4, 2, 5 3, 1)
p(4, 3, 1, 2, 5)
p(4, 3, 1, 5 2)
p(4, 3, 2, 1, 5)
p(4, 3, 2, 5 1)
p(4, 3, 5 1, 2)
p(4, 3, 5 2, 1)
p(4, 5 1, 2, 3)
p(4, 5, 1, 3, 2)
p(4, 5 2, 1, 3)
p(4, 5, 2, 3, 1)
p(4, 5 3, 1, 2)
p(4, 5, 3, 2, 1)
p(5, 1, 2, 3, 4)
p(5, 1, 2, 4, 3)
p(5, 1, 3, 2, 4)
p(5, 1, 3, 4, 2)
p(5, 1, 4, 2, 3)
p(5, 1, 4, 3, 2)
p(5, 2, 1, 3, 4)
p(5, 2, 1, 4, 3)
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p(5, 2, 3, 1, 4)
p(5, 2, 3, 4, 1)
p(5, 2, 4, 1, 3)
p(5, 2, 4, 3, 1)
p(5, 3, 1, 2, 4)
p(5, 3, 1, 4, 2)
p(5, 3, 2, 1, 4)
p(5, 3, 2, 4, 1)
p(5, 3, 4, 1, 2)
p(5, 3, 4, 2, 1)
p(5, 4, 1, 2, 3)
p(5, 4, 1, 3, 2)
p(5, 4, 2, 1, 3)
p(5, 4, 2, 3, 1)
p(5, 4, 3, 1, 2)
p(5, 4, 3, 2, 1)
No

?- pern(S,p(3,1,4,2)).

s(3, 1, 4, 2) ;
=s(3, 1, 2, 4)
=s(3, 4, 1, 2) ;

=s(3, 2, 1, 4) ;

nw unu u u nu unu unuo no nu nu u unu un u nu u u u u nu nu u u u
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No

?- perm(S,p(carrot,’ apple’,8337)),wite(S),nl,fail
s(carrot, apple, 8337)

s(carrot, 8337, apple)

s(appl e, carrot, 8337)

s(8337, carrot, apple)

s(appl e, 8337, carrot)

s(8337, apple, carrot)

No
?- halt.



